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EXNEE

A NRMH(FELXENL/XNALEAI)
chelr XIJr2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 1,000 1,000
01 It =S F = 1,000 1,000
Oxot2e| =gy I8 24
1,000,000 *1CH 1,000
(B)HESAIRIIFEAE 222,000 220,830 1,170
= 63,000
Al 159,000
101 ©1AH| 72,216 70,992 1,224
= 3,202
Al 69,014
M ORINZZ2NSE S 72,216 70,992 1,224
OMNLBAI SHEA @ 2 o
= 80,2403 6 x150 72,216
= 3,202
Al 69,014
201 er=23y| 149,784 144,078 5,706
= 59,798
Al 89,986
01 AtR2t2|H] 149,784 144,078 5,706
OMESAIXIt dE=2 124,778
—HESAXOL 2E==2(18 12 J|F)
105,000,000 * 14| 105,000
= 52,500
Al 52,500
—IHESAIX 2S5 (78 1€ JIE)
17,496,000 * 14| 17,49%6
= 6,248
Al 11,248
—IHESAIXDL AARE & 0l2AFHER
8= 2,282,000 x14] 2,282
= 1,050
Al 1,232
OEXSEE AR & ZEXAM 7l
50,0003 302 A 1,500
OZAtHe X7 7o
50,0003 »302¢ A 1,500
ORXIJEZEAL SHY S5 28 S0 % &
60,0002 * 1304 A +4 3] 3,120
OFRStIASAIAE E4+E
100,000& *11&62] 6,600
ORIt Z2H EXI(A0) 7
35,0002 +502 1,780
OXIteH 226 23 7 (44)
200,000 205 4,000
OXIIEHEZH FXl2eld]
500,0002 *1CH*43] 2,000
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2A: EXEE
H: NEHY(ZELXGINL/RELTAl)
Chelr X&2el EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZ2DDIESAH0148) SN2+ (85
2 AH) 2,000,000 *1CH*13 2,000
207 A IHEH| 13,000 35,000 222,000
02 HAHE| 13,000 35,000 A22,000
OXI&EIIE=Z BR= 13,000,000 14| 13,000
308 AXISHMSOIN 30,000 30,000
13 SI |2 SHICHEH B A X L EFALH] 30,000 30,000
OXE=SI|EE 22l
12,0003 *2,500& 30,000
405 Kt S| 18,400 18,400
01 ML =ZFSHI 18,400 18,400
O=E8U2ZAME EEAHOIE & MAET
=TI 7Y 18,400,000 & 14! 18,400
NEZRFe & CIAYZ 32,008 28,804 3,204
101 2124l 19,258 17,354 1,904
M IIRHZ2Z2XSE+ 19,258 17,354 1,904
OX&EZREe ¥ Qgs JREX QIR
= 80,2403 *1H 240 19,258
201 Let23| 12,750 11,450 1,300
01 ArR22eltl 10,200 8,900 1,300
OXIFQR HME I 900,000 & *43] 3,600
OXELIA L5 SAEX 7L
20,0002 x202t Ax 12 4,800
Ol 28 ¥ 8% 22
100,000& *1CH*53] 500
OEXOIZHE=oId DIJANA oI L
PN 250,000 *23] 500
OEXOIZHE=oIRA DAdsE 215D ¢
3 7 100,000 *23] 200
OEXNOIEHEECIA DYz B
B EH P 200,000 *33! 600
02 E2324H| 2,550 2,550 0
OXIHFZ| 21 SN & QE= &8
2,550 ¥50021 %23 2,550
E2E=A ALY 271,678 277,450 ABTT2
101 el H| 19,258 18,932 326
M I1RIMZ2Z2XsE+ 19,258 18,932 326
OASHSE TAF L HH| o182
80,240 +2F 120 19,258
201 B2 AL| 16,522 16,522
01 AtR2eltl 13,390 13,390
OE2HEFAAY 4,290
—FATB2C|ANAE KX
500,000& *13l 500
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ool X= e

hl

RA - BH SRS - LAY - BAS ofl &t A
—M=AEH S2H |RXE+
800,000& %12 800
—Mz=aAEH Z22H EX
60,0003 *152 900
—M=A&EH S2H 23
160,000& *35+32l 1,440
—ASHS T NN HEESH K2
clbl 500,000& 12 500
—HEEZH 2 150,000 *1H 150
2L SEEE A 6,900
—228 sao
60,0002 * 1074 A+13] 600
—CRHFA EEEE
2,500 +800JH*12] 2,000
SXE HUHX &
2,5002 *1,6000H*1=2] 4,000
—=2IPIE=RAXNEE S 222ER
1002 *1,5000H*12] 150
—dNF=aME EE2CES
1002 %1,5000H*12] 150
OASHST LOAEN S UANA S0
502 *65+1,0000H 300
OAld=2e| ciEfd =+ s UEE CHE
1002 *2,00021*12] 200
OXZSIAS| Baag
100,000& 5 & *12 500
OFAEBIAS BMSL
100,000& 6 & *22] 1,200
02 3224l 3,132 3,132
OE2HFA FAHLEUE JIIes
1,000&*311 A+ 123 372
OZ2Y 20l Y ¥ DAL ¢ LB
2,550 20085 +22 1,020
OL=2HEFA A=A X2 28 fER
= 2,550 x2005+23] 1,020
OADIE FAFEB2CNAE SHERS
30,0002 +2CH+ 123 720
206 =4I 12,000 12,000
01 M=4l 12,000 12,000
O2g=F4 20A 12,000
—NEE 2H8E 29
1,000,000& %12l 1,000
~NEE HE YAAET 2
1,000,000& x28 2,000
=4 - HE AHSE HSHSH(BHS) +
=l 6,0002 +750H 4,500
—gle - ga A2UEH 2
6,000 750K 4,500




SN EXNFED
A NRMH(FELXENL/XNALEAI)
(s BPNESET (1 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 89,838 104,436 14,508
18 SIS0t 4 A AS A 89,838 104,436 14,598
OFA2HBHCIAIAB(KAIS) XM 75 o
=Al2tel 47,520
—olxer &g 27,878,000 x14] 27,878
—CloIE] S&E/&e 1,472,000& x14] 1,472
—GIS S/W |22l 2,518,000& *14] 2,518
—=AF B2 AAE(KAIS) 2HXH
15,652,000 * 14 15,652
OgH=a 15 & FA4F2)|I2: FA2
el 42,318,000 *14] 42,318
401 AIEHIZ R 0HYI 134,060 122,560 11,500
01 Al&H| 134,060 122,560 11,500
O=zga S &1 & X2l 31,100
—ARE2EE £X
200, 0003 *50H 10,000
—gle - gu TRED I
200,000& #2574 5,000
—MAFEZ D= E 44X & |2
90,0002 +50H 4,500
—=AFECHHE |2t
100,000 %3174 2 3,100
—HASYE TRIFL HYNE SXB
cl 100,000 *850H 2 8,500
Odsdss &1 & |2
10,0002 %2,0007H 20,000
OFQBLX NEHASHSE LI AY
7,000,000 *14] 7,000
OAlEF=a X & FX2el
62,0002 *80H 4,960
OE2:H E2H HA SAH Y |X2el
225,000 4004 2= 9,000
O=2gFA FAFBAIE LM d=XAt 62,000
—ASHUSH HAZM
40,000,000 *14] 40,000
—CERHB LI
22,000,000 * 14| 22,000
KETHZEAL AFS 3,768,238 2,753,662 1,014,576
101 @124H| 19,258 18,932 326
M OIRIMZZ2NSE S 19,258 18,932 326
OXIHTHZAALY 12
80,2403 x 1 »240& 19,258
201 fer=2 3| 150,980 234,730 A\83,750
01 AtR2tc|HI 143,420 227,170 A83,750
OXETHEZAMS KT ArG e 2
,000,000& *44 36,000




2A: EXEE
H: NEHY(ZELXGINL/RELTAl)
el NE2e (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXIFHTHEAF CHHEXIEHRZE) MZ 2 &
Xl 1,000,000 404 & 4,000
OXNETHTZAAIE &2 6,120
—MENMEX 210 S
120,000& 162! 1,920
—XIETHEZAAISY E2E MZ
1,000,000 & *23| 2,000
—KNEHEAALY CHHE S HMIE
1,000,000& *13] 1,000
—KIETHEAALS &40 HIZ
60,0002 x 1001 2~ *23] 1,200
OBAZHSIAE FaLY
100,000& *7 B *43] 2,800
OXIEM AR 2 S8
100,000 x5 H 43 2,000
O2EBIIE2E
50,0002 *B00E! x2JH S Al 80,000
O&H EHEXI(A0) 7
250,000 * 102t A 2,500
OxH sdEX(Z20AHEEZE) 7L
20,0003 x255F A 500
O 238 226 23 7
1,600,000 1M E+22] 3,200
OXIETHEZAN ZEIH £
400,0002 x1 NI E*23] 800
OXNEMEA BEEEE RUHEE & &2
= 72 3,000,000 14 3,000
OXIZIMEA AL XIF J1EE AX
50,0003 *50& 2,500
02 2324l 7,560 7,560 0
OZHTHI(ANSSEED) RXE+H
3,780,000 *2CH*13 7,560
301 LPENF 3,500,000 2,500,000 1,000,000
14 JIEI2 &3 3,500,000 2,500,000 1,000,000
OXIETMEAIAIS 2&Z
3,500,000,000& 14 3,500,000
401 Al HIZL S 0HY| 98,000 98,000
01 Al&HI 98,000 98,000
OXNEMEAL 2 2X7 HEXNEE & S5
X< - X+ BEHI 98,000,000 * 14! 98,000
()X 2L 5,500 6,500 21,000
= 5,500
101 @124t 5,000 5,500 AB00
= 5,000
M IIHZ2Z2XSsE+ 5,000 5,500 2500
OXEIIESH Lt ZH| 21RY
5,000,000 * 14! 5,000




SH EXNEDD
A NRMH(FELXENL/XNALEAI)
&l X& 2t (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,000
202 04| 500 1,000 A500
= 500
01 =LHAHI 500 1,000 A500
OXNFIIE=Hetel & EXOISAl JHIU4
SR ZAL 500,000 *14] 500
= 500
(VXN ETHTAALG F=2 178,459 301,625 123,166
= 178,459
201 =3 8,498 14,363 ADb,865
= 8,498
01 Al222lH| 8,498 14,363 5,865
O2EBII22E
50,000 x50 2 20 & &I 5,000
= 5,000
OEIE=EIET =
906,000 *14] 906
= 906
OS2 01AHI 9,000 641 x4 B« 12 2,592
= 2,592
308 XXM SOIA 169,961 287,262 A117,301
= 169,961
13 SI[2S0He & A AS A 169,961 287,262 A117,301
ONEMEN SY+28
169,961,000 * 14| 169,961
= 169,961
(D)E2HFAMY 30,000 40,000 10,000
[ 6,000
Al 24,000
401 Al HIZL 201 30,000 40,000 10,000
= 6,000
Al 24,000
01 Al&HI 30,000 40,000 10,000
O E&OFR A HEXIEX
30,000,000 x 14 30,000
= 6,000
Al 24,000
(D) E2HFANSEELMSSFN 10,080 20,300 /10,220
< 10,080
401 AlZHIZ 2018 10,080 20,300 210,220
= 10,080
01 Al&HI 10,080 20,300 A 10,220
O=IINEHS B 2| AEZAIALE
10,080,000 » 14 10,080




2A: EXEED

A NRMH(FELXENL/XNALEAI)
o PN ESEE fo EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
il = 10,080
23 BRAR(EL KAWL/ XNALTAI) 1,180,500 1,405,800 A225,300
= 250,000
Al 930,500
SAUEEs TAIPE 1,180,500 1,405,800 A225,300
= 250,000
Al 930,500
SUHEE 2d2e 346,500 275,800 70,700
201 er2 3| 94,500 95,800 21,300
01 AtR2t2|HI 87,500 88,800 21,300
OSUEEAILH E2H EH 7Y
200,000 3513 600
OSUE2AIAE E2H EX Y
150,000 *4 3| *1CH 600
OSUHE2AIAY E22H FAES
600,000 12/ *1CH 600
OCE m2ol2 oy
2,500,000 *3H 7,500
OSE ==Yl 422 79
3,000,000 14| 3,000
O2e|BAH(RSASEHSRAAS(KRAS) =
Xzel) 30,200
—RSAZHTRAALY B SXIZL
20,000,000& * 14! 20,000
~SENEHTRAAY T2 SN
el 850,000& 122 10,200
O EEGHI(SUEEANAY S& K2
) 45,000,000 %14 45,000
02 S3=gHl 7,000 7,000 0
OEEZ =sg&tl 7l
3,000,000& *14] 3,000
OtEEZ =288 4,000,000 * 14 4,000
401 AlEHIZ 2018 252,000 172,000 80,000
01 Al&H| 252,000 172,000 80,000
OkZ & KotAldE SE5E duaA
22,000,000 *14] 22,000
OXAHE Jigrel SEXI(XI7) Hl At
200,000,000 *14] 200,000
ogz 2Eg 15
10,000,000& * 14| 10,000
OSAUEEAIAY JIs KA
20,000,000 * 14 20,000
()2 LXIGIAIZ ST A5 834,000 1,130,000 296,000
= 250,000
Al 584,000
401 AIEHIZ R HYI 834,000 1,130,000 A296,000




2A: EXEE
. HE3 BRAS(ZELXIGNL/XSALTAI)
ool AREDE CAIPE (cre:xigl)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 250,000
Al 584,000
01 Al&HI 834,000 1,130,000 A296,000
OXIctAld 2 EEFT HAAIS
834,000,000& * 14! 834,000
= 250,000
Al 584,000
MY SIZHI(EXEE) (DIEHDIE 97,602 99,604 A2,002
J|E23a| 97,602 99,604 22,002
J|1E23&| 97,602 99,604 A2,002
201 LB-2AY| 28,912 27,484 1,428
01 AtR2elt] 28,912 27,484 1,428
O=A=EX 7
20,0003 #1772 A+ 123 4,080
OSZoHAY| 9, 00021 +741x 7% 122 12,852
Ogtxg 100,000& *12& 1,200
O4AT2 T 50,0002 x12& 600
OALHE bl 8,140
—=S A %2l 1,000,000 *1CH 1,000
— Il 22l 100, 0002 *4CH x50/ 100 200
—SAMI| EYH 200,000& *53*1CH 1,000
—I2lH E(EH)
200,000 53| *4CH 4,000
—Z2iH EW(ZH)
200,000 *53*1CH 1,000
—PC =2l 100,000& *17CH*20/100 340
—DJIEt =2l 50,0003+ 12& 600
OJIEt AtR2t2ld]
10,0003 17H +12& 2,040
202 O4H| 63,240 67,320 A4,080
01 =ZLHOdHI 63,240 67,320 A4,080
OB Y| 20,0003+ 178« 12+ 122 48,960
O&2loH| 120,000 *17F 7 14,280
203 RF=&H| 3,600 3,600
M EA2IHRFALI 3,600 3,600
ORN2IYRFA|
300,000& =123 3,600
204 AR AY| 1,200 1,200
01 AHZ R AH| 1,200 1,200
OXMIADL A (EXNH V)
100,000& x1H + 122 1,200
405 RHaHE S| 650 650
01 AL =SEFSHI 650 650
oYz 72 650,000 *1CH 650




